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PART — A
Physics

1

Conservation of momentum in a collision

Detween two particles can be understood
fl'r.jm

(A) Conservation of energy
(B) Newton’s first law only
(C) Both Newton's second and third laws

(D) Newton’s third law only

1. @ U % " gu Hug § Ham e &

1 % g guen I 9T 2

(A) AT T GLEIT

(B) ad =4 % Y¥H HaH g
(C) =A% feefg 9 qeftw fm @1 g
(D) shael =g & qarg HFH g

v REP o

2. Calculate the energy consumed in ‘Units’ afe uh 100 91 % Fod Hl T eI A
in one day if a bulb of 100 W is used for 28800 sec. T YA T wmar 2,
28800 secs. gfieg # FHort @9 I Fq13T |
(A) 0.8 Units (B) 0.08 Units (A) 0.8 fTeH (B) 0.08 F{HeH
(C) 8.08 Units (D) 0.008 Units (C) 8.08 If2H (D) 0.008 JfZH

3. Sound produced by a thunderstorm is fepdft afga zsm gra 3= @i, dfsd
heard 7 sec after the lightning is seen. fe@rs ¢4 % 7 ghve 91e YA <l g
Calculate the approximate distance of the T3 7e i wfehe gt afrfera Hifsm |
thunder cloud. (Speed of sound = 340 mVs) (et 1 911 = 34071, /4.)
(A) 238 m o (A) 238 HI.

ks
(B) 23.8 m (=[] (B) 23.8 HI.
(C) 23.8 km (C) 23.8 Ter.
(D) 2.38 km (D) 2.38 fermi.
—
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I :-TE’-‘ G'j‘rrent recorded in ammeter of 4. fe= it afeaen " ﬁﬁ 1 T
ollowing three circuits will be I
HTH
SO il g 5 -
|| A H—(a)
i J\ LTINS 1 1o 4
) e K T E
T H l. \.r K
R

WWW
—WW

Ii. e R
il

e = W
e | =
R E o —i|
Iii. R E
_ i
ey AR (=]
0 i O
(=] [w] \\_A/
(A) maximum in i (A) i _
i 9 iy
(B) maximum in i (B) T Stferpan
(C) maximum iniand zero in i (C) i o HAtaaHan Q‘é{ i &
i 9 9=
(D) same in all circuits (D) T+t ufrgeli o oy

5. Which of the following formula is valid to 5. M= O g - T drees oy 2d
S TOTT

calculate voltage ? 39 2 7
(A) Work done x Time (A) IERIRICH FTY X H9Y
Current g
(B) Work done (B IERIRIDH D]
Current x Time ) U x 999
(C) Work done x Charge
(C) Toham T &t o T

(D) Work done x Time x Charge
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6. mgﬁuﬁaaw%%ﬁmtﬁ%m

6 : ,
- Which of the following statement is ‘ '
- - T : FH-H1 HIA
Correct regardiﬂg the propagation of light * % a1 H foer = g
o matis 1Ly ol qd & 7
of different colours of white light in air
(A) Red light moves fastest. (A) TS T o A M HT g |
(B) Violet light moves fastest. (B) ST T HEE A T T 2 |
(C) All colours of white light move with (C) Hihg Wbl & Fi T FHH fa |
same speed. =101 A 2 |
(D) Yellow light moves faster than blue (D) ieit ST, et {1 H oS T A Tl
and slower than red. o ofm 7ifd A 2 |
7. A cyclist comes to a skidding stop in e TEfehel AR S T T fEerdT g
10 m. During this process, the force on the 10 HIX G STTeht ®ehdl L gfsen 3mafy
cycle due to road is 200 N and is directly 3 Heh g HIgfehel T TR T it 200 N
opposed to the motion. How much work 2 St 3geh! ifd & faedid 2 | grsfepet g
does the cycle do on the road 7 e G Tehadl F1 fopaT T 7
(A) 200 Nm (B) 20 Nm (A) 200 Nm (B) 20 Nm
(C) 2000 Nm (D) Zero (C) 2000 Nm (D) 3[A
8 A child is standing infront of a magic FIS Fr=a feret Seg g o | T B |
mirror. She finds the image of her head 98 98 EdT & Th 3°e fdfas H 35T
bigger, the middle portion of her body o a2, <% ST % TET 4 3
of the same size and that of the legs * E
o oS
smaller. The following is the order of a a_{ fﬁ% femad 2 | <o <
combination for the magic mirror from the sftd & qdull & TAISH H1HH F1 R 7
oF - (A) THA, 3T I HAeAdc
(A) Plane, convex and concave 4 ‘.;1-'?#
OEND (B) 3T, 3radel 3R HHAA
(B) Convex, concave and plane
(C) Concave, plane and convex (C) ¥1eae, gHael 3T 3T
(D) Convex, plane and concave (D) 3det, HHdA 3T 3Tedd
/
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10.

11.

The loudness or softness of sound is

basically determined by its
(A) Frequency

(B) Amplitude

(C) Period

(D) Wavelength

Which of the following is true for Newton’s
third law ?

(A) Action and reaction forces are always
equal in magnitude

(B) Action and reaction forces can

produce accelerations of unequal
magnitudes

(C) Action and reaction forces always act
on the same body

(D) Both (A) and (B) are correct

An electric refrigerator rated 400 W
operates 8 hour/day. What is the cost of

energy to operate it for 30 days at
Rs. 3.00 per kWh ?

(A) Rs. 596
(B) Rs. 288

(C) Rs. 144

(D) Rs. 366

35!25

9. &Y Y waerar 37yal g1 39 oy g

10.

il

o fAfsag Hr st 2 7
(A) Fgfa
(B) TaTHg

(C) &1eA

(D) dUTeEs

=L % gt Frm & ford et & @
I8 7

(A) Tshar wa wfafsran st 3 afmmor =3
S B &

(B) Tora wa wfafskan se1 arame afagos
%de—ﬂmtﬁﬂ—ﬁé

(C) Tsham wa wfefsran st =aen
W & 2

(D) (A)3 (B) g |8 3

TF Bl T

ﬁaﬁséaoﬁqwawﬁ%ﬁmmi
T oI T 8 7

(A) 596 %.
(B) 288 %.
(C) 144 %,

(D) 366 % .
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13.

14.

A beam of light converges at a point P. 12.

Now a convex lens of focal length 20 cm
placed in the path of the convergent beam
12 cm from P. At what point does the

beam converge ?
(A) +15.0cm
(B) —15.0cm
(C) +7.5cm

(D) —7.5¢cm

Which of the following sentence (s) is/are 13.

incorrect ?

i. Fleming’s right hand rule is used to
know direction of induced current.

ii. In India, the AC changes direction
after every 1/50 second.

(A)
(B) Only |

(C) Bothiand ii are incorrect

Only ii

(D) Bothiand ii are correct

A particle goes from point A to B along a 14.

semicircle of radius 10 cm in 1.0 s. The

average velocity of the particle Is

35/25

Ueh Yeh19 S fehdl foimg P o srfiramicd
BT B | 379 U 20 Fft. BrehE gl
3T o ThTel G o 77 1 fag P A
12 991, gt W W@ W fhd fag W
HfyETRa g 7
(A) + 15.0 EHI.
(B) —15.0 &HI.
(C) + 7.5 9.
(D) — 7.5 &,

g § g PH-G1/9 YT Ted 8 7

i FeifdT % e B1Y o1 fHem, UiE 9
Fi feor s1a & & o 3= TR
STaT 2 |

i, Wd §, gearadt 9 & 1/50 HehvS b
are Ao fest ufafda et 2 |

(A) &I ii

(B) had |

(C) eMT i 3T ii TeTd &

(D) BT i 31 ii 4&l 2

ueh U 10 Y. TS % HGgW % G
fae A9 BT 1.0 GvS U JTAT & | I

&1 3iad I B

A A
10 e 6] 10
- B
(A) 3.14 m/s (A) 3.14 H1./4.
(B) 0.2 m/s (B) 0.2 H./4.
(C) 2.0 m/s (C) 2.04t./H
(D) Zero (D) A

___--"""-——-—_

—
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16.

L2

18.

A sound wave has a frequency of 2 kHz
and wavelength 40 cm. How long will it
take to travel 2 km ?

(A) 2.5s
(B) 2.1s
(C) 2.0s

(D) 40s

What is the ascending order of absolute

refractive index of following material
media ?

(A) Water, Benzene, Rock salt, Diamond
(B) Water, Rock salt, Benzene, Diamond
(C) Diamond, Benzene, Rock salt, Water

(D) Diamond, Rock salt, Benzene, Water

1.0 kWh is equivalent to

(A) 36 x 10%4 il
(B) 3.6 x 10°J i
(C) 3.6 x 1084

(D) 1.0J

A cyclist covers 1 km iIn 10 min and next

200 m in 50 s. Calculate his average
Speed.

(A) 2 m/s
(B) 6 m/s
(C) 1.25 m/s

(D) 1.85 m/s

15.

16.

[ 5

18.

35/25

ww eaf i 1 i 2 kHz T Ty
40 cm & | 2 km HI g F BT T Fm
fepaqT Tug <t ?

(A) 2.54.
(B) 2.14.
(C) 2.04.
(D) 4.09.

ﬁ.‘p:' acHsh HATEOH %5 ﬁlﬁ&T %q#&di% <h]
&1 g3 A FT BT 7

(A) S, sSfA, @fs a9e, &
(B) I, @S THeh, s, #
(C) &, ssfF, @f¥s 70, wa
(D) NI, WS A9k, S5, Wt

1.0 Tshefl afe 521 Hwgey 2
(A) 36 x 10°
(B) 3.6 x 10°3[&
(C) 3.6 x 10° 3w

(D) 1.0 3
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19, Statement 1 : The specific heat of a
substance is the amount of heat required
to raise the temperature of the unit mass
of the substance through a unit degree.
Statement 2 : The Sl unit of specific heat
is Jkg 'K ™.

(A) Statement 1 s right, statement 2 is
wrong

(B) Statement 1 and statement 2 both
are right

(C) Statement 1 is wrong, statement 2 is
right

(D) Statement 1 and statement 2 both
are wrong

20. Read the following statements :

1. A person with myopia can see distant

objects clearly.

2. A person with myopia can see

nearby objects clearly.

3. A person with hypermetropia can see

nearby object clearly.

4. A person with hypermetropia can see

distant object clearly.

Which of above statements are correct ?
(A) 1and 2 are correct
(B) 2 and 3 are correct
(C) 2and 4 are correct

(D) 3and 4 are correct

35/25

19. &A1 : fopeht v o ek geEHE I
FEHT Bl 2 |
WEWW@W@HWW
FER Jkg K (St TR o)
BIEC

(A) HUF 1 F&l 8, FIF 274 2
(B) %2 1 Td %Y 2 THI H&l 2
(C) HUA 1 Teid 8, HUA 2 FEl 2
(D) FYA 1T 2 g1 Terd 2

20. Tr=fefiaa SeHl +i 9Q :

1. U Safaa Tord gt (Fepegfeedn)
2 98 @ ! IEGIT B TE <@
Hehdl & |

Pk
..*és*:e:l >, e wfFa for W (Feregfeed)

2 98 UTq sl ST Bl AT <@
gehdl 2 |

3. U Safa Fol ereqeifa
(Ereigfeedn) 8 a8 ure i aeqHi ®I
HT% ¢ 9ehdl & |

4. U fad {98 aEaHIu

(Srergfeedn) B 97 Q@ ! aEq3T i
9% <@ Tl 2 |

IS H | Hal Yl 1 GAE BT
(A) 1 3 2 TE 2
(B) 2 31 3 &&l 8
(C) 23N 4 & 2

(D) 3 37T 4 G2 &

o
\es° ek
¥ T = &
, .
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Consider the following statements on
greenhouse gases :

1. Methane is greenhouse gas.

2. Nitrous oxide is greenhouse gas.

3. Water vapour is greenhouse gas.

4. 002 IS greenhouse gas.

Which of the above statements is/are
correct ?

(A) Statement 1, 2 and 4 only
(B) Statement 1 and 4 only
(C) Statement 2 and 4 only

(D) All statements 1, 2, 3 and 4

Two statements marked as Assertion (A)

and Reason (R) are given below.

Assertion (A) : A nail has a pointed tip.

Reason (R) : The same force acting on a

smaller area exerts a large pressure.

Choose the correct answer as per the

given codes :

(A) Both Assertion (A) and Reason (R) are

true and the Reason (R) is the correct
explanation of the Assertion (A)

(B) Both Assertion (A) and Reason (R)
are true and the Reason (R) is not the

Correct explanation of the Assertion (A)

(C) Assertion (A) is true but Reason (R)
is false

(D) Both Assertion (A) and Reason (R)
are false

35/25
21, e A 3 g # FAEICET B 5
ﬁ?ﬂ'{ﬁl—ﬁ
1. B9 gty s A9 2 |
2. AT3eH HfeETge Her TN 2 |
3. AT qer o 79 B |

4. CO, den =X 79 2 |
ST & T woAl § § HH-91/4 TE B 2

(A) hael HUF 1,279 4
(B) ®hadl YT 1 TH 4
(C) el e[ 21T 4

(D) &t 2H 1, 2, 3TF 4

po ﬁ%émmﬁaﬁaﬁm(maﬂtwm)
% &9 ° fafga e mn 2

W(A):%&ﬁﬁﬁﬂ@%ﬂﬁm
BT 8 |
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23.  Match the following List — 1 and List -2  23. ¥l -1 #i g - 2 | gofera FHifse 3T
and choose the right option. el e =1 =M ﬁﬁm I
List — 1 List — 2 Tl - 1 gt - 2
a. Instrument used to 1. Ultrasonic woE 8- I & 3L I 1. 90T
A
listen the sound (=] o, SS08 STETST ﬁqﬁ ¥

produced within

fort == v 2lar 2

d
i b. GHg h! TEUSAT 1 2. IR

b. Technique used 2. Stethoscope

to determine the I @ ford EREH
depth of the sea qohdT 2

c. Sound waves with 3. SONAR c. 20 Hz FEf A9 H 3. T
frequencies o i 3

below the 20 Hz
d. 909 20,000 Hz | 4. FIAH

d. Sound wave above 4. Infrasonic

371k bl wafd 9@ 3@
the range 20,000 Hz

Code: e .

) 1 2 9 9

B) 4 3 1 2 P ol 1 =
©2 3 4 f B % 1
(D) 3 4 2 1 D)3 4 2 1
11- B
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t& ; a1 HJauy
Em a—rf.-ﬂﬂjj _,_ T3
54. Which of the following velocity-time grapn 24 iq?d R ‘:I?Fﬁﬁ T8l
does not show non-uniformly accelerated rd
motion ?
' D)
Vv
(A) V (m/s) i
(m/s) =
0 t(s) —
0 g) —>
vT v
0 —>
O t(s) —=>> t(s)
v)r Vv
©) (mss) / ©) (ms)
0 ) =
0 t(s) —> (
(=] [=]
1 i 1
v (=)= Vv
D) (mss) (D) (m/s)
t(s) —= 0 t(s) —>
25. Read the following statements for FefeTigd b bl FATHT 6 &0 BTY &
Flaming’s left hand rule : % d<d ¥ Ug
1. Fore finger points in the direction of 1. qort g < fesn =51 S @ 3
current. 5 T =) % 1
2. Middle finger points in the direction of A B ARG Gl
et g H@Tfﬁﬁﬁ?ﬂﬁgﬁﬁaﬁm|
3. The thumb will point in the direction 4 33T dTetsh T T 9T g =fird
ST |

of motion. .
4. The thumb will point the force acting

on the conductor.
gelect the correct answer by using code

given below.

e:
Cod y 1 and 3 are correct

( 2 and 4 are correct
(B) on ;( 1 and 4 are correct

:ﬂ%ﬁ'&@@ﬁmﬁﬂﬁﬁm

=TI P |

&
(A) ad 1 Ud 3 &l 2

(B) shadl 2 U4 4 H&l 2
C) ®hael 1 Ud 4 Hal 2
(D) 2,309 4 9&l &

(D) 2. 3 and 4 are correct

-12-
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PART - B
Chemistry
26. Which of the following is not a constituent ~ 26. TF=fafigd § ¥ SH-F1 UI{eid 1 9hH
of petroleum ? TR g 7
(A) Paraffin wax (A) JUEE T
(B) Petrol (B) ﬁ@(—-[
(C) Coke Ol (C) I
A =
(D) Lubricating oi o (D) e ae
27. H,PO,isa 27. H,PO,%
(A) Monobasic acid (A) THHITE 37
(B) Dibasic acid (B) fzeria 3
(C) Tribasic acid (C) Faurg 3
(D) Triacidic base (D) fasr=tta am
28.  Which of the following has maximum 28. 7= 1 7 fohuy Alushaq wHm]
number of atoms ? e 2 7
(A) 1BQOfHEO (A) 189_H20§'ﬁ uw A
(B) 18gofO, (B) 18g-0,%F *4—
(C) 18go0f CO, (C) 189-CO, %
(D) 18gofCH, (D) 18g—CH4%’5 TR
og. Which of the following salt does not 09. T ¥ 9 FH-91 @9 Fed &1 31e1 487
contains water of crystallization ? & 2 7
(A) Blue vitrio| (A) ST a7e
(B) Baking soda (B) ST TS
(C) Washing soda (C) €1 =1 |Ie
D) Ty
(D) Gypsum (D)
—l-""_-_-—-—.-_ —
-13- B
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30.  What will be the volume of ammonia gas
formed when 12 liters of hydrogen reacts
completely with nitrogen ?

(A) 2 liter (B) 4 liter

(C) 6 liter (D) 8 liter

31.  Which of the following statement is wrong ?

(A) Methanol is oxidised to methanal in
the liver.

(B) Soap micelles scatter light. Hence
Soap solution becomes cloudy.

(C) Detergents are generally Na or K salt
of long chain carboxylic acid.

(D) Detergents are generally ammonium
or sulphonic salt of long chain of
carboxylic acid.

32.  Given below are two statements labeled
as Assertion (A) and Reason (R). Answer
by using the code (A) and (R).
Assertion (A) : Magnesium ribbon be
Cleaned before burning in air.

Reason (R): To remove a layer of D

magnesium dioxide that forms on its
surface when exposed to air.

Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)is true but (R) is false
(D) Both (A) and (R) are false

31.

32.

ﬁmﬁﬁaﬁh-maﬁmﬂﬁﬁ%‘? :

(A) Fd § BeHTer FATeRdTRA BT BTe
S AT R | |

(B) |TEA % fiydiet wehrT 1 Tehlfvld *d
2 FE H1ol 2 o AT 1 G Tee
Star femar 2 |

(C) 3UHTSIsh HTHT=Id: &l HTa gef]
ATl TR cTeh 370 o GITSTq 71
qIefem o9 B F |

(D) HUHTSI HETE: et FHreg AT
Tl FTaTerafcTe 37T % 3T

AU FRIfAE g 81y § |

ﬂ%éwﬁﬁ@%lwa 1 HAT (A)
71 THHT R (R) HET TR | e (A
9 (R) &1 3917 T I difsu |
FAI(A) : T 4 FAW F v oy
R 1 AT fora sy 2
FROV(R) : T & % "0 § 31y m

(A) (A) 3R (R) EF1 &t & 3y (R), (A)
1 Hel Tredieproy 2

(B) (A) 3 (R) ST way & 9= (R), (A)
waﬁm@mqﬁ%

(C) (A)F& 2 W (R) o 2
(D) (A) 31 (R) & TTorg &

-14-
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33.

34.

35.

36.

What happens when a piece of silver metal
is added to copper sulphate solutions ?

(A) Displacement reactions occurs
(B) Combination reaction occurs

(C) Explosion reaction occurs

(D) No-reaction

What is the dispersed phase of Gel ?

(A) Liquid

(B) Gas

(C) Solid ﬁ;r#@
£

(D) Plasma Eli,fﬁ'.;

The atmosphere of which planet is made
up of thick white and yellowish clouds of
sulphuric acid ?

(A) Venus (B) Mars

(C) Mercury (D) Jupiter

What is the volume of 42 gm Nitrogen (N,))
at STP ?

(A) 22.4 litre
(B) 33.6 litre
(C) 11.2litre

(D) 26.2 litre

35/25

33. 1 BIa1 8, 94 faeat °rq #1 U RSl
FT9 Tothe fgedd ° S I 2 7

(A) T wfafsran 2t 2
(B) waTe fepam Ereft 2
(C) femmiea o 2t 2
(D) 1E Fafufsrar 78 Bl

34, et St gREa JEEn FE 7
(A) 53
(B) T
(C) 3™

(D) TATSHI

35. " UE &1 9gHsd G I & Hie
vad Ud et S1eel | S 8 7

(A) sk (B) HTA
(C) 38 (D) gEAId
36. AW A9 d T W 42 U9 A3 I5H (N,)
1 AT 1 ERT 7
(A) 22.4 HIH
(B) 33.6 Sl
(C) 11.2 &I
(D) 26.2 ¥IeT

P
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37,

38.

39,

Which of the following SLLOIMONT 10/ o

N/
Correct
Statement | Fho Dlacl GO on allve
and the Qroen coaling on COPPOE cno e
examplos of COrrosion. .
I-I:lll'.*,l!'..!

Statement I Pitting, | o, Lavendahing '-f.i"ii"i‘ji.-
are varions lypos of motal COrrosion s
(A) Only statemaont |
(B) Only statomeont ||
(C) Both statements | and |1
(D) Neither statement | nor statomaont |
Which one of the lollowing procogs INvolve 11}
IN chemical reaction ?
(A) Liquefaction of alr
(B) Storing of oxygen gas undeor Prossure

In a gas cylinder
(C) Keeping petrol in a China dish in the

open
(D) Heating copper wire in the presenco

of air at high temperature
A green coating appears in a copper 39.

vessel, when it s OXposed to moist air.
This green material IS a mixture of

(A) Cu (O} i}P and (’311(3('.'}‘,i
(B) CuO and 'I'..:ijlf“..if.l,i
(C) CuO and Cyy ((’JH),‘

(D) (‘l'ruFS.(’J‘1 and l‘.':rut';l'J_5

T —

-16-

Lt el o oy )t 00 A HED B/E

T T T S PR RU VI Y | BT B 4,

; P 1
T T TP N TR A £t AL e TR e |

L O LR R (V) LTI (A PR Y A | B | 1T "iq

AR o, fegfige e 2
(A) ddet aepg |

(B3) dcder apepg

(C) @011 30 ) @

) I I T I Y | FR T RO AT

lsiferfoge of Dl i)yl Loy,
sbvfenan i nfre Ro7

(A) A1 o '-i'“'**""l

(B) Mot ferchan 1f anpg i

Wl g My o
W

(C) =g Fam af gayeq el 1 2o

(D) et g qi e )y

eefa o afa
b qN o) i

bl & wda g oph W qef) ey
G ) arell ary 4 e
Avwal gard foysu p

il
WATA gy R
(A) Cu (OH). i) Cuco,

(B) CuO 3l Cuco,

(C) CuO 311 (OH)

(D) Cuso, s CuCo,

(¥ scanned with OKEN Scanner



40.

41.

42.

Which of the following electronic
configuration has the lowest ionisation

energy ?

(A) 152, 267, 2p°, 3s°
(B) 1s2 252, 2p°, 3s'
(C) 1s2, 2s°, 2p°

(D) 1s2, 2s°, 2p"

The following reaction is

R R
Ro._ RN .o o & o
F{”C =0 R’ H2 | |

H H
(A) Substitution
(B) Oxidation Iﬁﬁ»

(C) Addition

(D) Combustion

Arrange the metals X, Y and Z in therr
increasing order of reactivity. If metal X
reacts with steam, Y reacts with hot water

and Z reacts with cold water.

40.

41.

42.

35/25
frer # @ fopm sormzie fmma 1 ST

FHA1 a9 B 7

(A) 152, 25, 2p6, 3s°
(B) 15, 2g?, EpE, 3s!

(C) 182, 252, 2p°

(D) 1s°, 2s%, 21:1'{'I

fyaferfiga stfafsean 2
R R
R _R’ Ni ~ I—1—F{"
C-—CHH;TH =
H H

afg X &g W & sfufsean =t 8, Y arg
T art & ATl et B 3R Z uig
a2 TR & sl w2, @ uT X Y
3R Z 1 3I7h! Sedl g3 Tohamsiicrar &
T Faferd i |

(A) X>Y>2Z
(A) X>Y>Z
B) Z>Y>X (B)Z}Y}x
) A=Y 2 (C) X=Y=2Z
(D) Y>2Z5X (D) Y>Z>X
17- X— 8 HW B
b sTOT WA

g
(% scanned with OKEN Scanner



43.

Which one of the following reaction is an
example of decomposition reaction ?

(B) Pb + CuCl, . — PbCl

(©) 2Cu+ 0,4 2cu0

(D) Fite.'-E'C}3 + 2Al - »ﬂkl2"$":3 + 2Fe

44.  Which of the following reaction

IS a type of
Saponification ?

() CH,Co0C H, R, o) cooNg
+C,H sOH

(B) C12H22011 CEH1EOE(G|UCGSE)

- CEH 1 205 (Fructose)

(C) CH,COOH 2. CH,COONa + H,

H,SO
(D) CH,CH,OH

+ HEO

4
> CH2 = CHE

45. 7 g of N, contains, how many number of

nitrogen molecules ?

(A) 1.07 x 1023

(B) 1.51 x 10=23 TR

(C) 1.07 x 10723

(D) 1.51 x 1022

44,

45.

B) Pb +cCucl, PbCl, . + Cu

2(aq) q) (s)

(C) 2Cu+ 0,4 2cu0

(D) Fe,0, +2A1 - AILO, + 2Fe

F=fafea § & - srfufean
HIHTHIT T Uh Yeh B 7

H
(A) CH,COOC,H_NaO > CH,COONa
+C2H50H

H$
B) C15H,50,, —— CH, 0, (rra)
+CgH, 0, ()

(C) CH,CooH -Na_, CH,COONa + H_

H,SO
(D) CHECHEOH -

+ HEO

4
> CH2 = CH2

709 Nzﬁ%ﬁqﬁgﬁm% 3 B E o

(A) 1.07 x 1028
(B) 1.51 x 1907283
(C) 1.07 x 19=23

(D) 1.51 x 1023

M |

il
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46,

47.

48.

49.

Which one of the following is not correctly
matched ?

Natural Source Acid Present

(A) Lemon —  Oxalic acid

(B) Vinegar o
(C) Ant-sting o
(D) Orange =

Acetic acid
Methanoic acid

Citric acid

What are the components of Aqua regia ?  47.

(A) Concentrated HCI and concentrated
HNO, In the ratioof 1: 3

(B) Concentrated HCI and concentrated
HNO, in the ratio of 3 : 1

(C) Concentrated HCI and concentrated
HNO3 in the ratioof 3: 5

(D) Concentrated HCI and concentrated
HI\IO3 in the ratioof 5: 3

Consider the following statements : 48.

1. A change of state directly from solid
to gas without changing into liquid
state is called Condensation.

2. Heating of ammonium chloride is the

46.

example of Sublimation process. ﬁ.ﬁ‘#"-
Which of the above statements is/are A&
correct ?

(A) Statement 1
(B) Statement 2
(C) Both the statements 1 and 2

(D) Both the statements 1 and 2 are
incorrect

Which of the following oxide is basic in 49.

nature ?
(A) CO, (8) NO,
(C) Na,0 (D) PO,

35/25

friferfiad 3 & #-a1 b @ gafera
qEl B 7

UTehfdeh |d Iuteea HFA
(A) g - Tl 37
(B) Tateht - UHifewm 3
(C) =eI h1 b -  HAAIZH A
(D) | - fufeew s

e I % BT IR 7

(A) 1:37% FIE | F5 HCI HIT AT
HNO,,

(B) 3: 1% U § |IF HCI 3N |15
HNO,,

(C) 3:5% UM ¥ |5 HCI 3 815

HNO,

(D) 5: 3% FIUd § | HCI 3T A1

HI’\H:'J3

freferftga sl | faer i .

1. 319 ¥ e 3TTEAT H weot oA =iy
o § qftgd shl 9u49 &l JAdT 2 |

2. FHIFIH FAREES bl TH HAT
3EEqTa lshAT w1 ISTET 2 |

ITe HUAT H ° HH-H1/H WA B/ 7

(A) HUT 1

(B) U 2

(C) 1 3R 2 THI HYA

(D) 1 31 2 Sl oA F&l 8l @

fa 1 9 wH-w s FHE Thid

BB ?
(A) CO, (8) NO,
(C) Na,O (D) PO,

-19-
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PART — C
Mathematics - 5 VFT-BT :
HO. It one nt the zeros of the cubic polynomial 50. frermd EER[E X + a?" ;;[ 1 I 2
b ax” + bx + ¢ is zero, then the sum of H Ueh I 2 qa 3 o I 2 )
other two roots s (A) - a (B) =
(A) —a (B) —b 5) —a-b-c
(C) —c¢ (D) —a-b-c (C) —cC (D) =
F ; - PT a')—"_(, O q_?[
A1 Inthe given figure, the tangent PT touches 51. fqu M e ﬁ, oIl 5 2
# farg A 07 w9l ]

the circle with centre O at the point A c

T
Then GE
(A) ~BAT =50° (B) «ABC =50° (A) «BAT =50° (B) ~«ABC =50°
(C) -BAC =30° (D) ~ACB =70° (C) «BAC =30° (D) ~ACB =70°
52.  If the perimeter of parallelogram ABCD is ~ 52. ¢ GHIA SIq4S| ABCD T TiHTY
28 cm. 28 9Hi. 3
X+ X
X 2y +2 X 2y + 2
D > he D > C
Then, dsl,
1
(A)X::acm,yzgcm (A)J(:Sﬁ-l:ﬁiy=2ﬁ~jﬂ
(B) x=4cm,y=1cm (B)x=4ﬂﬁ',iy=1w_
(C) x=6c¢cm,y=2cm (C)XZBW'.,}{:Q%‘
(D) x=8cm,y=3Cm (D) x=8uHl., yv=3Tf
1 L — i
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Let m be a prime number and leaves 53, ui &5 m v ST Jen 2 AT m A

remainders 3 anfi 1| when it divides 60 60 A% 210 F1 9 24 T FHUI: 3 AT

i rETpEL“rEiﬂid?h:‘éow:" . 1 Hlﬂf{',;;[ Gl P | m#H 100 “H1 {1 a:{
' N M ¢ S ’ : |

remainder whel i Do war R

(A) 1 (B) 5 (A) 1 (B)- 5

(C) 7 (D) 9 (C) 7 (D) 9

S4.  If the given pair of linear equations 54, ¥fe fau A0 Heger, wefiepaom % 44
a x+b Y +C, =10, a2x+b2y+cﬁ_0has a,x+ b Y +C, = 0, a,x + b, Y +C, =0 hl
nn SG|LItI0ﬂ then which of the following is Hé ‘?”‘1 A& ‘9‘ A« ﬁ'l:il 4 9 14 Hfrad
necessarily true ? Rt 7
(A) o D, 2 bt (A) ay _ b, 3 Cy

a, b, G a, b, ¢,
B) 21,0 G B) Bypliyl
a, b, G, CheC a, b, ©C,
(C) a1ib1=i ﬁl}ﬁ (C) a1¢h1:5
a, b, ¢C, a, b, ¢
(D) a, b, _¢ (D) a, b, _¢
a, b, ¢, a, b, ¢,

55. A solid spherical ball of metal with radius  55. 6 gut. for==m &1, g1q %1 TH 3T TMATR T
6 cm is melted and recast into three solid Tie =1 fqaersRt g @ S TR TeT
spherical balls. The radii of the two balls % ®9 § Q1A T 2 | g gl whl A=
are 3 cm and 4 cm respectively. Then the FHI: 3 THI. dUT 4 9. B, q1 A= e
radius of the third ball is CARPED | %

(A) 5cm (B) 10cm (A) 5 #HH. (B) 10 T,
(C) 3 cm (D) 1cm (C) 3#HH. (D) 1 =,
- 3

56. In APQR, right angled at Q, 56. st PQR # QWL HWHIT 2,

PR + QR = 25 ¢cm and PQ = 5 cm. Then PR + QR = 25 1. 31 PQ =5 &4, 2,
the value of cos P is dl cos P eI HIH 2

12 5 12 5
A (A) (B)
) 13 (B) 13 13 13

12

12 1A= h%ﬁq

(C) - (D) Does not exist (C) . (D)
JE—
P B ~ « 0 RN lqﬁ\g‘!t’ I -]

35/25
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35/25 %

afe faig (1,2), (7 4)W(K’°)mgaa 60.
T Rk
57. If the points (1, 2), (7. 4) and (K, 0) ar¢. 5
. K %1 A 2
collinear then the value of K I8
A) 1
A "
(B) 0 (B) O
(C) -5 (C) =5
(D) 5 (D) 5
61.
58. Which term of the arithmetic progression 58 YHHX ad'} 4,11,18,25, ...l hI-HT T¢
4,11,18, 25, ... is 42 more than its Tq% 259 Ug A 42 IATH 8§ ?
25" term ? _
" (A) 2941 9g
(A) 29" term
(B) 30" term (B) 3049l 9qg
(C) 31% term (C) 3147 Ug 52.
nd g
(D) 32" term (D) 324f qe
59.  Two dice are thrown simultaneously. Then 59 3 98 T 9y BF - .
the probability of getting a multiple of 2 on > & - t,ﬁ‘:ﬁ %’ a T 98 T
one dice and a multiple of 3 on the other 1 @ 9T 3 &1 NUES A
dice is st Tfreha 2
(A) . (A) S x
36 53? . 36 63.
et
1 Sty
(B) 'iﬂé-: (B) 1
‘ 6
©) © |
S 3
o)y T
36 (D) ~
36 (
.--""'-.——-
B 22- H,u,ag. . e y
o N+
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50.  Consider a quadratic equation 60. Ush fgema wfleror x4 ax + b = 0 W
X + ax + b = 0. For which of the following ferem &l | =t 0 | a 3 b & el w1
values of a and b, the given quadratic & fero & g fgema adfreror &1 ger o U4
equation has a positive integer root ? quifer & 7
(A)a___._z‘b:‘l (A)i—]:-.:—E,b=1

9 -
B = -3 b= I?Jf"ri!_'.'.! (B) a 3.b
(C) 822\/2.b=2 [.j.!'_‘ : (C) 5:2\/2|b2
(D) a=4,b=4 (D) a=4,b=4

61. IfAB=6cmandCD =8cm are two parallel 61. Elﬁ ABzﬁnmaﬂT CD = 8 cm ¢l HHIAL
chords lying on the opposite sides to the Sard 2 St 5 om frsE a1t g9 F FE F
center of the circle with radius 5 cm, then el 3R B, a9 et & o9 $i gh 2
the distance between the chords is

| arft.
(A) 6 cm (B) 7cm (A) 6T, (B) 7
(C) 8.cm (D) 9cm (C) 8&Hl. (D) 9 &I,

62. If the median of following observations, 62. fe f= fed i Yequr, =it fop g w0 A
arranged in ascending order is 20. FfEd 8, i "AfErehT 20 2 |
3,4,7,8,10,18, x + 2, x + 4, 26, 28, 31, 2 Ay B W 18, 048,420,208, BT,
36, 38 and 40. Then the value of x will be 36, 38 3 40 | T x 1 A ENT
(A) 15 (B) 16 (A) 15 (B) 16
(C) 17 (D) 18 (C) 17 (D) 18

63. If sinB + cosech = 2, then the value of 63. Afc sind + cosech = 2, TF sin’0 + cosec’d
sin0 + cosecd is equal to 1 g B

8

9
(B) 2 (B) 59
(C) 2° (C) 2°
(D) 2 (D) 2

i ﬂ—o ':."—-é ¢
W TR 23- A B
AER = . *
\T, \ \_qj-/ C g Can D q.l-“ﬁ&-

.26 9g,31, e, 38, WO

N

s 2

-

(N0 cegec® -,
sini€@ + coser®
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64. The arithmetic mean of all prime numbers
between 20 and 46 IS
(A) 28 (B) 31
(C) 34 (D) 37
B,

A cylinder of circumference 8 cm and
length 21 cm rolls at uniform speed without

s 1
sliding for 4 ° seconds at the rate of 9

2
complete rounds per second. Then the

distance travelled by the cylinder in4 !

seconds is 2

(A) 300 cm

(B) 308 cm r%
(C) 316 cm
(D) 324 cm

66. For the product of any five consecutive

Integers which of the following statement
is false ?

(A) The product is always divisible by 3
(B) The product is always divisible by 4
(C) The product is always divisible by 9

(D) The product is always divisible by 15

66. 11 e shumTa quriert 3

ey TH%S & fou

~HT YT 3y ® o

(A) ﬂunwsﬁwsﬁféwW§

(B) %S =Rwn 49 favrey 2

(C) 1TU

frt
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67. The value of {(256)' 1'2}_ dp 67. {(255)—Tg}‘ |
(A) 8 (B) 4 (A) 8 (B) 4
(C) 2 (D) 1 (C) 2 (D) 1
68. Consider a cubic polynomial 68. T femd EER X5 — 73x° — 657x + 729 W
x® — 73x% — 657 + 729. Let . and B be two fomm | 9T o 3R B 98U % & I
zeros of the polynomial then HIGE)
(A) a=9,p=27 (A) =9, p=27
(B) a=-9,p=-281 b C (B) a=-9, p=—81
(C) o =27, =81 E“?’% (C) o.=27, B =81
(D) a=-9, = 81 S (D) a=-9, B =81
69. The product of two irrational numbers 69. &I HURHT T3 H U5
(A) is always an irrational number (A) UM Tsh IRUT & 2
(B) is always a rational number (B) BHII Us IRHT @A 2
(C) is not a real number (C) Ush aTdfcsh BT T8l &
(D) may be a rational number (D) T YRHF T=AT Bl Hhdl B

70. In the given figure, if CD = 10 units then ~ 70. g e mu = & cD = 10 IHE B 99 AB

the length of AB is %l TS 2
D D
45° 30° 45° 30°
A - - ‘
C A C B
(A) 10+10v3 Unite (A) 10+10/3 HE
(B) 5+543 Unite (B) 5+ 53 THTE
(C) 10+5V3 Units (C) 10+ 53 3T
(D) 5+10y3 Units (D) 54+10y3 T*EE
e _;l—""'-—-—_.._ 1 —
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73.

Which option gives correct set of
statements ?

1. The ratio between circumference
and diameter of a circle is always
constant.

2. The longest line segment in a
rectangular box is its diagonal.

=

|| I_ri [ |

3. The area of a rhombus is the product fﬁﬁ

a4

of its diagonals.

4. The longest chord of a circle passes
through its centre.

(A) {1, 2, 3} (B) {2, 3, 4}

(C) 1,2, 4} (D) {1,3, 4]

The ratio of volumes of two cubes is

27 . 64. What will be the ratio of their total
surface area ?

The mean of 100 observations was found
33. If two observations were wrongly taken

as 37 and 47 instead of 73 and 74, then
correct mean is

(A) 35.36
(B) 35.63
(C) 36.53

(D) 33.56

72.

73.

(A) {1, 2, 3} (B) {2, 3, 4}

(€) {1,2, 4} (D) {1,3, 4}

<l Bl % STRIGHT T AT 27 : 64 8 | ST
T} O831 % &Rl Bl 31T T BT 7

(A) 3:8 (B) 3:4

(C) 9:16 (D) 27 : 64

100 Y&Vl <1 W1EA 35 payy 1y oy | afe
"ﬁ?ﬁﬁ?SW?ﬁla%@nqq-{aﬁ&w

-26-

6

37647%&@2‘1@}@:”@%
(A) 35.36
(B) 35.63
(C) 36.53
(D) 33.56
i ™ -

=g
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PART - D
Biology

74.  Which is the link between glycolysis and

Krebs' cycle ?
(A) Glucose
(B) Cytochrome
(C) Acetyl Co A

(D) Pyruvic acid

75. In man satellte or SAT chromosomes
are usually associated with the short
arm of acrocentric chromosomes. Select
out the correct option for such specific

chromosomes.

(A) 1,10,15,16and Y

(B) 13, 14, 15, 21 and 22

5

40
s

(C) 13, 14,16, 18 and 21 Al

(D) 13,14,18 and Y

76. Which of the following proteins are rich in
basic Amino-acids such as arginine and

lysine and constituents of chromatin ?
(A) Albumins (B) Globulins

(C) Prolamines (D) Histones

74. TATSHIATEEE 3T HeH =5k o o9 HATASD

HH 8 7

(A) TTHI

(B) TTIEIShIH

(C) THiersel FI. T,
(DIEIEIEERUEE

75. WA H UIATES U HS (SAT) TR
AWI: ThRAs OREAT I o ST H
TEd Bld & | 39 R % fafome o
q gwfud g8l fashes g |

(A) 1,10, 15, 16 3T Y
(B) 13, 14, 15, 21 3R 22
(C) 13, 14, 16, 18 37 21

(D) 13, 14, 18 3 Y

76. T 4 ® SH-0 UIEH § AT F AR
S iy il 3Tl i TEaT Bl 2 3
d ShIAfe & e BId B 7
(A) Tesgfa (B) TeATsfer
(C) T (D) fem

— cami
.27-

(0 =18
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/7. Gibberallins are also used in agriculture. 77. Foratfert =1 3

Which of the following is used to produce

‘Thompson’s seedless grapes’ ? L 1 IcATEH F %ﬂ 8
(A) GA, _ (A) ST,
(B) GA, (B) S.T.,,
(C) GA, (C) Gﬁq.a
(D) GA,, (D) Sit.T.,,
78.  Which of the following is/are not the 78. 99: €Y % g9g {4 9 9 %19 g0 T FE
function of testes at puberty ? T8 8/2 7
. Formation of germ cells '
i. ST SITRTRTS kT fmfor
li. Secretion of testosterone
ii. TERTH T TATEu
lii. Development of placenta
iii. S (3A90) 1 faemrg
Iv. Secretion of estrogen
iv. TS &1 Sa0]
Select the correct option (s) from the Eﬁ&fﬂ
above ,.:iﬁ" Wﬁﬁﬂﬁﬁm(ﬁ)ww
shifsu
(A) iand ii
(A) i 3T
(B) ii and iii
(B) ii 31 jjj
(C) iii and iv
(C) iii 3R iy
(D) iandiv
(D) i 3 iy
. —

B -28-
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79. Which of the following group exhibits more 79, fa form urew wg # ==@ sifes wSld

species diversity 7 fafyyar et st 2 7
(A) Algae (A) ItaTed

(B) Fungi . (B) “hdh

(C) Bryophytes ﬁ,r% (C) STATHIECH

(D) Gymnosperms (D) ettt (Forered)

80. Two isotonic solutions A and B are 80. E‘T W—Higdl % = A 3T B Ush :ﬂﬁ

separated by a semipermeable membrane. T foeett @ faafid 8 | S % AU
ill be the direction of movement of :
What will b =1 o g e § BT 7
water molecules ?
; < Il >
N— ) Q | =)
( =3 B .
L i o ]
Sl ‘_‘_-;l =4
= — /s ’IA“— f
S HE-TT
ay Semi
ol B permeable J L HliB a1t B et

. s PR membrane

L o7

(A) Hiat & T (T A Sl TTH)

(A) Inward (towards sol. A)

{B) OUTWErd (towards s0l. B) (B) EIES ﬁ d% (Ehﬂ B ﬁ ﬁ-{tﬁ)

(C) In both direction (C) a:h ﬁ'{ﬂﬂaﬁ ﬁ

(D) Molecules will not move at all (D) 319 foesper ot o & K
-—-"'-'-_-——.-_ ——

-29- B
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81. Which of the following 1S correctly matched Iy
; A
Column =1 Column — i W
(AF 5 Ll 2
(A) Amyloplasts  — store oil and fats ﬁgﬁ'gﬁ'gz —
- i F7dT 2
(B) Elaioplasts — store carbohydrates
E ahl TUBLOT 3
(C) Aleuroplasts — store proteins (C) QE@E;I'IR Sk
L ST TUEL0T HL)
(D) Chloroplasts — store iron (D) FALNATEL Sl ?
82. During infant stage in human when the  82. HIHd IR H ﬁﬁgﬁﬂﬂ o e UMY T &
cartilage structure is being replaced by S8 AR 1 QI S| &l _bpfﬁ' % q9 3
bony structure, which organnel will be PIRTHI | HIF-FT 37Th ITTehdl o
majorly found ? S 7
(A) Endoplasmic Reticulum ’ﬁéﬁ (A) Taset SArfeqen
(B) Nucleolus "Eﬁ:ﬁ (B) wm
(C) Mitochondria (C) W@ﬁ‘i‘%‘ﬂ‘[
(D) Lysosome (D) Ty
85
83.  Which of the following secrete gastric 83. i ¥ 3 fr hh
hormone ? E'I'Eﬁ‘-{) g f‘ﬁ?ﬂ % : HEIE] (ﬁﬁ?‘-ﬁ
(A) Chief cells (A) i E'“*E’W
(B) Oxyntic cells (B) 3Tifaf:

(C) Goblet cells

(D) Argentaffin cells

(% scanned with OKEN Scanner



5 35125

84. Match the inflorescence and example. B4, ST AN Jere ) FAfera A |
Inflorescence Example qohH JATEI0I
i. Hypanthodium 1. Carrot i, Brevenfzam 1. TS
ii. Umbel 2. Sunflower ii. &A% 2. HHYE]
iii. Spike 3. Spinach iii. S[eh 3. qreleh
iv. Capitulum 4. Fig Iv. HUSh 4. A

i i iii iv l I i iv
(A) 4 1 3 2 (A) 4 1 3 2
(B) 4 3 2 1 (B) 4 3 2 1
(C) 1 2 3 4 (c) 1 2 3 -4
(D) 1 4 3 2 (D) 1 4 3 2

85. The first viral disease of bacteria was 85. Gﬁ‘q'rﬂaﬁ T ﬁw U <hl e EIT::@ frg

recorded by AFTH 7 AR S 7
(A) Frosch (A) W9
(B) Popper : .if (B) U
(C) Pasteur | (C) UTo=i
(D) Twort (D) =
_ -31- B

\
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86. The milk of which of the following cattle
breeds is supposed to be best suited for

making cheese ?
(A) Holstein-friesion
(B) Brown swiss
(C) Red dane

(D) Jersey

87. Here are given some values related with

lung capacities for a normal human adult
I. 3000 ml .

lii. 4500 ml Iv. 500 ml

Choose the correct option indicating
Sequence of residual volume, vital capacity,
tidal volume and inspiratory reserve volume.

(A) i, i,
(B) iii, i,

1500 m|

Iv and i

I and iv

(C) iv, i, i and iii

(D) i, ii, iii and iv

88. In some animals the cleavage of zygote is
spiral and determinate. In such cleavage
pattern, the fate of the resultant daughter
cells is fixed from the beginning. This
diagnostic character belongs to which of

the following phyla ?

(A) Platyhelminthes and Echinodermata
(B) Mollusca and Annelida

(C) Echinodermata and Nematoda

(D) Arthropoda and Chordata

K
e

86.

gr.

88.

(D) T E

wwel F guarsi aEdl 71 (3T6e) f

T8 |
i. 3000 ml ii. 1500 ml|
iii. 4500 ml iv. 500 ml

39 &l faehed &1 934 It 1 Tﬁ“s'ﬂﬁ
3H, dT5ed %ﬁﬁqﬁ, 2SS T

é{-ﬂﬁd(ﬁﬁé%%ﬁﬁ@ﬁ%
(A) ii, i, iv 37 ;
(B) iii, i, i 3 jy
C) iv, i, i 3 ;i
D) i, i, i 3Ry,
ﬁ?%ﬁaﬁ%mﬁ%mqﬁaa
AU
TR T Hafy TP % fager
%ﬁwwﬁmw
@Bﬁﬁraﬁﬁémgl
o 3 TR TR g7 e
o wﬂﬁ%?
(A) Wﬁf%qeﬁ?[w
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89. Identify the given cross and select the 89. f&& T % it vg=m =t va F&l fahed
correct options : Ejﬁ(’ :

P RR
®, ©
P, Gamete ®\L @ P, Gamete
™ @ & @
r

4
F, Gamete Révul F, Gamete ___y R “Ovules

F
2 ®
/]\
Pollens
:
©

:®

T

RR
Red
Pollens
é

% (D
e. m

(A) Tl
(A) Dominance )
(B) Linkage gPtas
(C) Incomplete linkage (C) Y1 FEeTHT
(D) Incomplete dominance (D) 3TOT SHTIerdT

90. Bi colateral vascular bundles are common 90. 13 OIS Hdad dUsced dgMH &9 g 9

in which of following plant ? fraqea d g 2 7
(A) Cucurbita (B) Ficus (A) ﬁﬁ’ (B) hIshd ﬁ
(C) Hibiscus (D) Ricinus (C) TTe&al q (D) E A

=] : "
91. Which of the following hormone is %&1 91. fr=fafEa 4 9 sH-T1 8WH 3™ g

synthesized by pancreas ? o] [E] ST BIAT 8 7
(A) Somatostatin (B) Somatotropin (A) EmHZRLfeA (B) |mHErEIfuA
(C) Calcitonin (D) Prolactin (C) werfeit= (D) Wietfee
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92. Given below are two statements. One is 92.

abelled as Assertion (A) and the other is

abelled as Reason (R). Answer using the

code given below.

N -.h
Assertion (A) : Most of the daily habits  4"lei  rfrer ferard &1 © |

and acts are natural reflexes.

Reason (R) : Playing on a musical

iInstrument is a conditioned reflex.

Code :

(A) (A) 3R (R) 21 & 2 3T (R), (A

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

T T TR 3

(B) (A) 3R (R) gH &t & Td (R), (A%
gal TSRl 98l 8

(C) (A)is true but (R) is false

(C) (A) T&l 8 T (R) ToTq 2

(D) (A) is false while (R) is true

(D) (A) a8 wafs (R) w2

93. Which of the following options indicates 93 Ci= ) - fy . o OB
the control by parasympathetic system ? S _ m% Waw q1e
GRTTan ?
(A) Heart rate decreases and Bronchi
constrict (A) T R T oafy
9 YT we

(B) Heart rate increases and bladder
constricts

(C) Bronchi dialate and pupil constricts

(D) Bladder relaxes and salivation
INCreases
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94.  Study the following reactions A and B :

L . .
Glucose —> Pyruvate ® am'f Acid
+ Energy
Energy

Ethanol + CO, +
Energy

Choose the correct option showing the
condition in which the reaction A and B

takes place; respectively

(A) Yeast and Bacteria
(B) Muscle cells and Mitochondria
(C) Muscle cells and Yeast

(D) Mitochondria and Yeast

95. Study the following tissue diagram and
select the correct option of element name.

it

[

(A) i. Phloem parenchyma, ii. Sieve plate,
li. Companion cell, iv. Sieve tube
(B) i. Sieve plate, ii. Sieve tube,
lii. Companion cell, iv. Phloem
parenchyma
(C) i. Phloem parenchyma, ii. Sieve tube,
lii. Companion cell, iv. Sieve plate
(D) 1. Sieve tube, ii. Sieve plate,
lii. Phloem parenchyma,
Iv. Companion cell

94.

95.

35/25

ey srfufpestt A ta B & 37eEE HIET

@® fdes ufas
il T
2l ;‘ﬁr;‘ercof

23 T3 s Tod 1 HLIA HITIC T A
ﬁ%uﬁmaﬁ fé[claw &1 I HITU |

(B) i. H& wie, ii. ®id &,

i, ST 94, iv. FAIUH  ORTET
(C) i. FeITuH YHHIEHT, ii. Hi 3q,

i, P Od, iv. g wie
(D) i. Ta q, ii. |19 wie,

iii. Feluy QERIET, iv. HHEIT O
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96. The revolutionary method Of stainrng
individual nerve and c.gll structure
developed by Camillo Golgi is known as

(A) Blue reaction
(B) Pink reaction
(C) Black reaction

(D) White reaction

97. As evidences of organic evolution which
of the following support the principle of
‘Divergent Evolution’ ?

(A) Fossils
(B) Homologous organs
(C) Analogous organs

(D) Vestigial organs

98. Match the following.

Column-A Column-B

1. Australopithecus i. Cranial capacity

of 680-735 cm”
2. Cro-Magnon .

finely chopped
stones for first
time

3. Homo-erectus iii. First absolute
bipedal

4. Neanderthal Iv. Lack of chin,
prognathous
face

5. Homo habilis V. Inventor of fire

1 2 3 4 5

(A) v i v i iii

B) v i v i

(C) i v Voo

(D) i i Vil v

Made tools from - )

o td Hbhe
. ﬂﬂ ]'f]fi’rTH | , ;ﬂ“
W Tmﬁﬁ EF -1t bl ‘jﬁ tEG 3
96. E :
op] 1T s 5
Frfael CIRIE
() =1 AR
B) I HffshAT
(C) = Hffshal
(D) =BT eileRl
i % ®9 1 fam 4
97. ety fawE & Wﬁ% | mq;
i * srgEr 3fEPH g
FAE 7
(A) STTETeH
(B) GHTA 3T
(C) |Hgfd 3T
(D) F9rl 37T
38. ﬂﬁﬁﬂﬁ Hifsu |
HieTH ~ A &hied - B
|, AR ST A 68
- g 735 cm’
2. Shi-H i, wderm it
e el 9
: SR &A1
3. BM-FHE i, gy T
frieem fgare
I v. SISt a1 HYM
T 2fafeg A
5. gl L iﬁ'ﬂ?ﬂﬁm
1 HTferserTT
A i~
(B) IV ii i I i
(C) I iV , - |
= i i ' v il i
) v i I\
— Al
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99. Which fish is not suitable for composite g9, fuftyg Te=r gad= yomet B9 HA-H el

fish culture system ? I T 27
(A) Rohu (A) T7

(B) Mahseer "ﬁ%g (B) HETHN
(C) Mrigal (C) T

(D) Common carp (D) AT M

100. T & § fopll Tt — X 37¥a1 T HF

100. Which of the following is also called as

Factor — X or Stuart Factor ? off g1 a1 @ 7
(A) Thrombin (A) wTfeem
(B) Prothrombin (B) WifreH
(C) Thrombus (C) gr=d
(D) Thromboplastin (D) YrITeATTEH
i -37- B
\

(¥ scanned with OKEN Scanner



